Medway LEA Advisory Service

Environmental chemistry/using chemistry

9G & 9H

25 min

27 marks

Q1-L4, Q2-L5, Q3-L6, Q4-L7, Q5-L7

1.
(a)
(i)
any one from

1

· the sea is nearer the church

· part of the church has gone

· part of the cliff has gone
accept ‘it has worn away’ or ‘it has been
eroded’ or ‘it has collapsed’

(ii)
the sea [image: image1.wmf]ü



1

(b)
any one from

1

· they are rolled around on the beach

· they rub against each other

· they collide with each other
accept ‘the corners get knocked off’
accept ‘they are eroded’

(c)
(i)
weathering[image: image2.wmf]ü


if more than one box is ticked
1

award no mark

(ii)
acid rain
accept ‘acid’ or ‘rain’ or ‘water’ or
1

‘carbon dioxide’ or ‘sulphur dioxide’ or ‘soot’

do not accept ‘greenhouse gases’

[5]

2.
(a)
(i)
water
accept ‘H2O’
1

(ii)
carbon dioxide
accept ‘CO2’
1

(b)
(i)
do not use antifreeze or methanol near a naked flame and do not swallow
1

accept ‘it catches fire easily and it is poisonous’

accept ‘wash hands after use’ for do not swallow

accept ‘it is flammable or inflammable and it is poisonous’

both answers are required for the mark

(ii)
any one from

1

· water froze

· the mixture froze

· the contents froze

accept ‘10% antifreeze is not enough to stop the water freezing’

‘not enough antifreeze used’ is insufficient

do not accept ‘it froze’


and expanded

1

[5]

3.
(a)
(i)
5 or 6

1

(ii)
2 or 3

1

(iii)
1 and then 4
accept ‘4 and then 1’ for one mark
2

(b)
carbon dioxide + calcium chloride
answers may be in either order
2

(c)
no reaction or nothing
accept ‘soaks in’
1

accept ‘sandstone breaks up into grains of sand’ or ‘sandstone falls apart’ or ‘it reacts with the cement’

[7]

4.
(a)
any one from

1

· plants subjected to or not subjected to acid

· pH of the acid

· strength of solution
accept ‘concentration of acid’
· volume of acid
accept ‘amount of acid’
accept any appropriate independent variable

(b)
(i)
any one from
mark parts (b) (i) and (b) (ii) together
1

· plants live or die

· plants healthy or not healthy

· plants or leaves change colour

· how many seeds grow

(ii)
any one from
the dependent variable must relate to the
1

independent variable mentioned in part ( a)
· number of plants dying or ailing

accept ‘count them’

accept a reference to appropriate measuring equipment

· number of leaves falling or ailing

· mass of plant matter

· area of plant leaf growth

· height of plant

(c)
any one from

1

· soil nutrients

· temperature

· humidity

· light

· acidity of soil at the beginning

accept any suitable control relevant to the factors specified in parts (a) and (b) ( i)

[4]

5.
(a)
calcium chloride
do not accept the formula
1

(b)
(i)
any one from

1

· a gas or carbon dioxide or CO2 was given off

· water or H2O was formed and drained away or evaporated

accept ‘the chemicals formed are washed away’

accept ‘calcium chloride is more soluble than calcium carbonate’

do not accept ‘chemical weathering’

(ii)
any one from

1

· the soils at B and C contain no acid or are not acidic

· soil B is neutral and soil C is alkaline

· the pH is higher or too high

(iii)
acid rain

1

accept a recognisable method of lowering the pH of the soil

(c)
(i)
any value greater than 960 but smaller than 984
1

(ii)
any one from

1

· cannot control the environmental variables involved

· pH of soil may vary

· cannot predict rainfall during this time

· cannot predict temperature during this time

accept ‘data in the table could be unreliable’

[6]
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